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India suffers first recession in decades

[ndia has plunged into recession for the first time in nearly a quarter of’ a century as the
pandemic continues to weigh heavily on Asia's third biggest economy. which economists
warn will struggle to recover from the slump. Ofticial data published on Friday showed gross
domestic product for the July-September quarter fell by 7.5% compared to the same period ;
last year, when the economy was growing by more than 4%. i

That follows a record drop of nearly 24% in GDP in the April-June period, the first quarter of’ :
[ndia's fiscal year. "With a view to contain the spread of the Covid-19 pandemic. restrictions
were imposed on the economic activities not deemed essential during [the Jthe
[Indian Ministry of Statistics said in a statement on Friday. "Though the restrictions have been
gradually lifted. there has been an impact on the economic activities." While manufacturing
returned to growth, the services sector sulfered a second consecutive double-digit decline.
Government consumption also fell sharply in part because of an "inadequate fiscal response !
to the crisis,”" said senior India economist at Capital Economics. Shilan Shah. Positive
preliminary results from AstraZeneca on its vaccine candidate is good news for India. given

that it has one of the largest orders of any country and the vaccine will be produced locally.

Shah added.

. T'he vaccine is "the most encouraging sign vet that India has a route to ending its Covid-19
“epidemic and the social distancing that continucs to weigh on the economy.” he said in a
research note. But distribution challenges could mean a vaccine would not be widely available '
until the second half of next year, added Priyanka Kishore, head of India and South Last Asia :
economics at Oxford Economics. There are also some concerns that a lack of clarity regarding
data from the vaccine trials could delay regulatory approval. Both cconomists said that India’s
cconomy has a difficult path ahead. "The absence of' a comprehensive fiscal response... will :
hamper growth going forward." Kishore said. Investors will be paying close attention when
[ndia's central bank meets next week.

"Under these circumstances, monetary policy is likely to remain very loose tor the foreseeable
future, and we think markets are too hawkish in expecting modest rate hikes in 2022." added 5
Shah. The GDP data highlights the contrasting fortunes of India and China in the wake of the ;
pandemic, '
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Answer the following questions:

1) Mark true (¥') or false (x) for each of the following sentences:

1- The Eighteenth Century literature was characterised by the supremacy of passion
over reason.

2- According to the philosopher David Hume, the self is nothing but a bundle of
impressions and ideas.

3- One of the basic reasons for the American Revolution victory was the leadership of
Georg“e Il.

i 4- The glorious revolution is also called the bloodless revolution by the Tory party.

5- Grammar schools were a type of schools that were common in the Eighteenth
Century for the children of the workers and labourers.

6- Wolf Tone was the main British leader who called for the Act of Union of 1800.

| 7- The first working steam engine was invented by James Watt in 1764.

2- Write short notes on the following titles:

1- Drama as a literary genre in the Eighteenth Century.
2- The industrial Revolution’s positive and negative effects over the British Society in
the Eighteenth Century.

3- The Seven Years War in Europe.

Best of Luck,
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I. Mention whether each of the following statements is true (T) or false (F):

1. In the sentence We met on Wednesday, Wednesday is a deictic expression.

2. A predicate is the semantic role played by a particular word in a sentence.

3. Visiting lecturers can be awful can only be interpreted as Lecturers who work at the university
for a short time can be awful.

4. Bob is who ate the beans and The beans are what Bob ate have the same propositional content.

5. The sentence Marlene was not in class today entails Marlene was sick.

6. The argument a sand castle in The children built a sand castle has the semantic role of affected.

7. The sentence All of my bachelor friends hate their spouses is an example of a contradiction.

IL. Define each of the following terms. Then, explain the difference between the

terms in each pair and give examples to illustrate these differences.

1. binary antonyms vs. gradable antonyms 3. hyponymy vs. entailment

2. equative sentence vs. generic sentence 4. prototype vs. extension

I1I. Give one clear and specific example for each of the following:

1- a polysemous word 4- a system of three incompatible members
2- a symmetrical hyponymy 5- an analytic sentence
3- a referring expression that does not have a 6- a three-place predicate

physical referent in the real world.

IV- Choose the most appropriate answer:
1. Which of the following expressions of the 5. What are the semantic features required for
sentence The present Prime Minister of England the subject of this sentence?

is Boris Johnson DOES NOT have constant ___ is traveling with his wife to London this

reference? week.

A. Boris Johnson A. [+Animate, +Human, + Female, +Adult]

B. England B. [+Animate, +Human, - Female, -Adult]

C. the present Prime Minister of England C. [+Animate, +Human, -Female, +Adult]

D.aandb D. [+Animate, -Human, -Female, +Adult]
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2. When we encounter one form (written or
spoken) with two or more unrelated meanings,
we have what is known as .

A. synonymy

B. homonymy

C. hyponymy

D. polysemy

3.  is the core or central meaning of a
predicate (lexeme).

A. Implication

B. Denotation

C. Connotation

D. Prototype

4. Which of the following can be in a particular
regional accent?

A. Sentence

B. Utterance

C. Proposition

D.Aand C

All the best!

6. We can say that Toyota and Honda are ___
because they share the same superordinate
"economy."

A. antonyms

B. co-hyponyms

C. synonyms

D. homonyms

7. is the role of an argument which comes
into existence because of the action.

A. Agent

B. Affected

C. Effect

D. Associate
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O Amnswer the following Questions as required:

I. Tess of the D'Urbervilles

I- Hardy subtitled Tess of the D’ Urbervilles as: " ™

2- Hardy uses Tess of the d'Urbervilles as a vessel for his criticisms of _

3- In Hardy's novel, the region he grew up in is called

a. Wessex
b. Dorset
¢. Blackmoor
d. Talbothays
4- Angel asks Tess to marry him but she refuses. Why?

5- On their wedding night, Angel admits that ‘ . 50 Tess feels able to

6- The novel’s largest critique is aimed at the sexual double standard. Explain?

7- Joan [jllrbeyfield contributes to her daughter’s downfall by

1. Making her proud of her ancient lineage

II. Dressing her up to attract Alec d’Urberville

I Advising her not to tell Angel about her child by Alec
A. Tonly

B. I and Il only

C. Il and Il only

8- Angel can’t forgive Tess for her past because

A. He has idealized her as a virginal figure of rustic purity
B. He's violently opposed to premarital sex.

C. He doesn’t want to support another man’s child

D, Tess is stubborn about her previous judgment of him

9- Discuss whether or not you think Tess is a victim?
~\
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1. Pride & Prejudice

10-When was Pride and Prejudice written?

a 1785
b. 1657
c. 1813
d 1921

| 1-In her novel P& P, Austen focuses on how pride and 'first " can lead to prejudice.

12-Mr. Wickham attempts to elope with Mr. Darcy's sister. (True / false)
13-Where do the Bennetts live?
a. Longbourn
b. Meryton
c. Pemberley
d. Netherfield
[4-What does Mr. Darcy do at the Meryton ball that causes Elizabeth to dislike him?
15-Who was the first person that Mr. Collins proposed to?
a. Charlotte
b. Jane
c. Lydia
d. Elizabeth
16-The title *Pride and Prejudice’ hints at a major theme in it. Which characters (/ist at least two)
are especially full of pride, and which are especially prejudiced, and against what or whom?
17-Consider extracts (a) and (b) below closely. What are the main differences between Mrs.

Bennet’s and Lady Catherine’s views on marriage?
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A. "It is a truth universally acknowledged that a single man in possession of a good fortune
must be in want of a wife.’
B. ‘While in their cradles we planned the union, and now, at the moment when the wishes
of both sisters would be accomplished, in their marriage, to be prevented by a young

woman of inferior birth, of no importance in the world, and wholly unallied to the family!’

18- Who is speaking or commenting and who they are talking to or about? L’.oo|k closely at both
extracts: What are the main differences between Charlotte and Lydia?

A. "Without thinking highly either of men or of matrimony, marriage had always been her

object; it was the only honorable provision for well-educated young women of small

Jortune, and however uncertain of giving happiness, must be their pleasantest preservative

from want.’

B. ‘But can you think that Lydia is so lost to everything but love of him, as to consent to live

with him on any other terms than marriage?”

IHI. Answer only ONE of the following questions:

19-What does the author mean by “with reawakening sensibilities, memory afsolreawakened, he
had begun to ponder over the elements of his old faith, and blend rher!n with his new
impressions, till he recovered a consciousness of unity between his past and present’? Give

reasons for your answer.

20- Is "The Necklace" by Maupassant a cynical story that reflects a really bleak and jaded view

of life in the 19"-century England? Does it have a moral?

THE END _ BEST WISHES
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